Lesson 3-5

1. c|l 4; = alternate exterior &
2.none
3. c|l &; = alternate interior 4

4. c|l &; supplementary consecutive
interior 4

Lesson 3-6
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Lesson 3-5

Given the following information, determine wh‘ich }if\ES, if any,
are parallel. State the postulate or theorem that justifies your answer.

1. £9= /16 2. £10= £L16 )
3. £12= /13 4 mZ12 +ms14 =180 1-4. See margin.

Find x so that r || s.
BT ¥ f'-

15 40

: Lesson 3-6 (pages 159- 164
Copy each figure. Draw the segment that represents the distance indicated.

i Extra Practice

1. Pto RS 2. Jto KL 3. BtoFE
A B

£ E
Find the distance between each pair of parallel lines.
4. y=%x-2=~2.08 5. y=2x+4 ~ 4,02 6. x +4y = —6 =~ 2.43

y = 2% = —D x+dy=4
Y=Fx+

[SSRISIROVE) )
P—

COORDINATE GEOMETRY  Construct a line perpendicular to € through P. Then
find the distance from P to €. 7-8. See margin.

7. Line € contains points (0, 4) and (—4, 0). Point P has coordinates (2, —1).
- 8. Line € contains points (3, —2) and (0, 2). Point P has coordinates (—2.5, 3).

Lesson 4-1 [pages 178-183]

Use a protractor to classify each triangle as acute, equiangular, obtuse, or right.
1L equiangular 2. right 3. obtuse

Identify the indicated type of triangles in the figure if A : B
AB = CD, AD = BC,AE =BE =EC = ED, :
and m£BAD = m£ABC = m£BCD = m£ADC = 90. 4 K
4. right 5. obtuse AABE, ACDE e

6. acute ABEC, AAED 7. isosceles AABE, ACDE, ABEC, AAED ©
4. ADAB, AABG, ABCD, AADC
8

. Find a and the measure of each side of equilateral triangle MNQ if MN = 52, NO = 4a + 6,
and MO =7a—12. a=6; MN= NO = MO = 30 ; "

9. Triangle TAC is an isosceles triangle with TA = AC. Find b, TA, AC, and TCif TA = 3b 4 1.
AC=14b-11,and TC=6b - 2. b=12; TA= AC = 37, TC = 70
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Lesson 4-3 -+ Proof: Statements (Reasons)

5.Given; AANG= ANGA, - g . . 1-AANG= ANGA(Given)
ANGA = AGAN 2. AN= NG, LA= £/ N(CPCTC)
Prove: AAGN is . 3. ANGA = AGAN (Given)

equilateral and 4. NG=GA, LN= £ (CPCTC)
equiangular. A 5. AN = NG = GA (Transitive Property of =)

s & 6. AAGN is equilateral. (Def. of equilateral A}

1. £A= £ N= /G (Transitive Property of =}
- 8. AAGN is equiangular. (Def. of equiangular A}




I/mr,y-, 1

; re of each angle.
e 2. £2 60

60 4. 24120
s ] 6. 26 86 *
%1594 8. ~8 86
y :; 10. 210 24
v
n4-3 ; i —— =0
W triangles in each figure. - ——
et =
" 4 AABC= AFDE 2, i OJKH = AJIH
Ky
.ﬁo “AL P
K E X
J
v ARTS = AUVW 4. L OLMN = ANOP

{;w:f_&

o
Wite a two-column proof. See margin. G
Given: AANG = ANGA
ANGA = AGAN
prove: AAGN is equilateral and equiangular. A N
ssson 4-4 (pages 200-20¢

stermine whether ARST = AJKL given the coordinates of the vertices. Explain.
R(-6,2), 5(—4,4), T(=2, 2), J(6, —2), K(4, —4), L(2, —2) Yes; see margin for explanation.
R(-6,3), S(—4,7), T(=2, 3),J(2, 3), K(5, 7), L(6, 3) No; see margin for explanation.

fite a two-column proof. 3-4. See margin.

Given: AGWN is equilateral. 4. Given: AANM = AANI

b WS=WI DI = OM
I LSWG=LIWN ND = NO
Prove: ASWG = ATWN Prove: ADIN = AOMN
i w L, M
I D
N
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Lesson 4-3

PTG RN

K =VE— 9+ (2 (-0
=Vi+a0rV3
K=Via =27 + (-4 - (-2

LRS=V(T6- (- 4))2+(4 2)2
=VardorVE
=V(—4- (- 2))2+(4 2)*z
SVIFaorVE T

=V(=6— (-2 + (2~ 2
:\/——or

AS = JK ST = KL and AT = JL
By definition of congruent
segments, all corresponding
segments are congruent.
Therefore, /ARST = AJKL

.AS

= V(-6 (-9 +(3-T7F
=4+ 160r V20
K=V(@2-57+B-TF
= "/m or5
Since, AS # JK the triangles are
not congruent.
Given: A GWN is equilateral.

WS=W
/ SWG = . IWN

Prove: ASWE = AIWN

Proof:

Statements (Reasons)

1. AGWN is eguilateral. (Given)

2. WG = WN (Det. of equilateral
triangle)

3. WS = Wi (Given)

4. L SWG = . IWN (Given)

5. ASWG = AIWN (SAS)

- Given: AANM = AANI

0i=0M
ND = NO

Prove: ADIN = AOMN
/ M

Proof:

Statements (Reasons)

1. AANM = AANI (Given)
2. IN= MN (CPCTC)

3. Di = 0M (Given)

4. ND = NO (Given)

5. ADIN = AOMN (SSS)
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1. Given: ATEN is isosceles with
base TN. 21 = 4,

LT=/N
Prove: ATEC = ANEA
E
1/2 34
T C A N

Proof: T ATEN [is isosceles with
base TN then TE = NE. Since
Z1=/4and £T=/Nare given,
then ATEC = ANEA by AAS.
2. Given: 2§ = LW, SY=VW
Prove: ST= WV

‘,\\i
w
Proof: LS= /Wand SY= YW
are given and £ SYT= / WYV

since vertical angles are

congruent. Then ASYT = AWYV

by ASA and ST= WV hy CPCTC.
3.Given: £1=,2, /3=/4

Prove: PT = [X
Proof:
|£1= 22| [£3 = 24] [TX=TX]
Given Given Reflexive
Prop.
A 4
[APXT = ALTX|
SAS
A 4
PT=1X
CPCTC

4. Given: FP || ML, FL | MP
Prove: MP = FL
Proof:

[FPlmL ] [FLImP |

Given Given

4 A 4
Lg;4&|ﬁ1z[£”ﬁ[:—:PLl

Alt. Int. Alt. Int. Reflex.
A Th. £ Th Prop.
L 4
[AFLP = AMPL |
ASA
v

CPCTC
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Write a paragraph proof. 1-2. See margin.

5. i 6. y 4
A(2,7) F(2,2)
B(27) O  Cla0)X E~o0 0 D(0.0)x G(.7) O] Hia+208"
762 5 9a’ Pe?a’ctieg_a’ o F(=b, b) 6-a-2, 0.},71%;&:;

LW
1. Given: ATEN is isosceles with base TN. s
1=/4,/T= /LN o
Prove: ST = Wy
Prove: ATEC = ANEA
S v
E
\ !
o\ AW/
T C A N T w
\ i . 3-4. See margin. s
| Write a flow proof. 3 " 4. Given: FP | ML, FL || Mp
¥ 3. Given: £1=/2,/43=/L =
j o feien — Prove: MP = FL
Prove: PT=LX
& 4
P L
5 ; 1 i‘
3
= X P M
L‘ ss‘zn {‘ 6 e {PGQCSZ}G,%
Refer to the figure for Exercnf.es 1-6. B
1. If AD = BD, name two congruent angles. £ DAB = £ DBA E = G
2. 1f BF = FG, name two congruent angles. £/ FBG = / FGB L = ‘:c
3. If BE = BG, name two congruent angles. /_BEF:'—-iBGf_
4, If £FBE = £ FEB, name two congruent segments. Fi% f‘:f_
5. If ZBCA = £ BAC, name two congruent segments. BA = BC
6. If 2 DBC = £ BCD, name two congruent segments. BD=CD

Lesson 4-7 [pages 222-23 .
Position and label each triangle on the coordinate plane. 1-4. See margin for sample answers, .
1. isosceles AABC with base BC that is r units long

2. equilateral AXYZ with sides 4b units long
3. isosceles right ARST with hypotenuse ST and legs (3 + a) units long
4. equilateral ACDE with base DE ib units long.

Name the missing coordinates of each triangle.
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